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ITU    CIVIL ENGINEERING FACULTY

WATER SUPPLY AND ENVIRONMENTAL SANITARYPRIVATE 


RECITATION I —


POPULATION ESTIMATION METHODS

1st Question:

In the book of instructions of Turkish Bank of Provicenses about the Preparation of Water Supply Projects the future population of a city y is calculated by the below formula:
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where p/100 is called as population increase ratio and given by:
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Show that the above equation is identical with 
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2nd Question: 

a) Show that in geometric extrapolation method the future populationcan be calculated with the equation:
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b) Derive the relation between the geometric increase coefficient (kg) and .

3rd Question:

a) In a city the population at 1975 is 90000 and population in 1985 is 100000. Estimate the population of this city in 1995 assuming geometric increase of the population.

b) If the population of the city increases to a saturation limit of L=300000, estimate the population in 2005 (Consider that the population increase curve has a common tangent at 1995).
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